each carrvingimrh-.{

uwﬂhmzmwamwﬁj
2. All guestions are to be answered. >4
3. For each Multtple Choice Qu&iﬂﬁlﬁﬂ f-:

with a ball point pen. Multiple options shac
liable the answer to be cancelled. Wrong ans
deduction of 0.25 marks. (MCQ e e S o6
55% e 7= T @ frim shade =fire @ 1638 MCQ @ Fe=
wFem wm sayaa 155 MICQ, Sams & 0.3 TR0 923 | )
4. Answer to Group B questions (Q. No. 31 — Q.No 4( b
appropriate space of the answer script. (2= B=mz (Q. No.
5. Candidate shall use ball point pen ( blue / black ) to ai
( w7 e oo (¥ | T ) S o) TRA IR ) ‘
6. The last page of the answer script be used for Rough W
Rough work @a=7 1)

Group - A
Multiple choice Questions (MCQ) :
1)  Which of the following is a mixture ?
Trpa i 9% fem g
a) air b) carbondioxide c)
a) " b) WEEEEERS !

2) Chemnical that can be used to separate a mixture of
T AARGE A eI whene we A

a) Carbon b) Carbon
disulphide tetrachloride

?) TESHNTRS  p) Wi SR
Jr
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3)

4)

5)

6)

7

8)

9)

10)

11)

a) Corphor
) T8 h)
When a piece of burning magnesium “ribbon s
with a —

i o < A i e AR oot
a) Paleblueflame b) Magentaflame ﬂ'. o
a) =TS M b) et e o

Scientist who first proposed the naming of chemical eleme
another letter of the English ;‘ Latin ward uf the eleﬁmnt? y
a) Proust b) Lavoisier ¢ Dalton
a) 2% b) FEHPEA o wEe
Which element has been named after a river ?
a) Rhodium b) Hhe'n’.l'&m '::} .
a) T b) _ o

Formula of aluminium phosphate is —

Tiova (SR SoERlEs TR e 7
a) Al(POs)s b) Al{POs)s c) AIPO;
Which of the following elements is the least reactive ?
B2 T TS s 7 Ay ¢
a) Lead b} Platinum ¢) Sodium :
L]
a) T b) A o e

I 32g sulphur has %" atoms , then the number of atoms in 3230):1!&&"!1

a) X b) x c]

2

Which of the following substances would form a supﬂrs-m
57 rm AT Gl wfveie i 1o 9 ¢

a)  Na35:04 b) Na;SO,
The formula of sulphate of an element is X;(SOx .,1
TR TANETA D 2 | X(SO4)s 220, B if
a)  %Ni b) XN |



34) Why does steam pradm;es ore se

at the same temperature ?

35)  How many electrons are there in He? ion ?"

HeZ" ion @ v TR e 1 20 S R AR ARG ¢

36)  Why does common salt get wet during rainy season ? |

=41 Fe EIHICE S 20 W A 2 B Sy TR AR IR

37) 1.8 g glucose (M = 180) is dissolved in 100 g

30°C i@ 1.8 g grF(M = 180) 100 g &= 131g!

38)  Element bromine exists in two isotopic -fdfm’&"B‘E;Efﬁﬁl'lﬁﬁ

49.7% while that of the later is 50.3% . Calculate average ¢

i i 20 wRonEm e - 3587 aw 35P7° |

50.3% | iR tIe o sAaniEe v fin e | Uy

39) What are the differences between the solid state and gaseo

A “wicela 57 @z #{513e weER T clE B R e

40)  Determine percent composition of carbon , hydrogen and o)

2R ST (CH;CO0CaHs) ¥, RRBTERR SR S




13)

14)

15)

16)

17)

18)

19)

20)

21)

a) Co,Ni,2Zn b) As,B
Molecular farmpla of chﬁﬂfﬂﬂﬁf _ !
mole chlorophyll —A ? LW s
T — A’ o8 o A CosHia0sNaMg 2%
a) N b) 2N

a) N b) 2N

a) 0.2 mole b) 2 molesof CO;
sucrose (M = ' _
342) | --

a) O02wEBR(M= b) 2wECO, <)
342)

The size of solute particles in a true solution is — &% 536 @R
a) 107, b) 10, R e e
Identify the isobar pair — TG TEERAE T ¢

1

a) 1H

A b) agatt apeats c)

No. of electron , neutron and proton in the atom 92”23“53138
% | TS 2 |

a) 92,922,143 b) 92,92,235

a) He' by H

What is the maximum number of electrons that ca

atom ? T iR Tafien. Jrerehe aom Halis sl \3'

a) 10 b) 8

JL:'D#

4 g



27)  Complete the reaction=CaMCOsk Tl =

Ca{HC{Ja];W e A e A ——
a) Cao, C0,,H:0 b) Ca, CD;,H;EI

28) Identify the solid — solid solution among :
Sirsa e «af 3 - fom P o

a) Gold b) Gold ornament

a) vl b) THH R ]

Which of the following has molar mass 100 ? ﬁ%rﬁ T

a) CaCOs

Ozone hole means — 6T *1Z8 2109 JHH -

a) Cavity in ozone b) Deplatiaﬁ.'uﬁ.ﬁi, g
layer Iayér |

a)  GTuA e b) GUS R STEIGA




